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O CHAPTER12 INFINITE SEQUENCES AND SERIES
S e R > Vn .. ; ; . : o= 1 |
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ny/n ny/n “~ ny/n c
=1 3 ; . :
—— (p = 5 > 1), so the given series converges by the Comparison Test.
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Use the Limit Comparison Test with a, = ——— and b,, = l:
p
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lim 2% = lim + = lim — = 1 > 0. Since the harmonic series Z — diverges, so does
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Use the Limit Comparison Test with a,, = —— and b, = —:
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Use the Limit Comparison Test with a, = 1 1 3 and b, = 3 nh—brIc:o Z—: = nan;o %3;7% =1 > 0. Since col
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>~ bn converges (geometric series with |r| = 2 < 1), 3° 1—1? also converges. 28. Us
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Use the Limit Comparison Test with a,, = and b, = —: lim — = 1 = 1.>:0:"Since | 1 =
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(p =2 > 1), the series Z (nn—_’_l?)— also converges.
n=3




ﬁ}

SECTION12.4 THECOMPARISONTESTS O 947

23. Use the Limit Comparison Test with a,, — R 4L and b, = %:
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convergent p-series (p = 3 > 1), the series Z (5%_%2) also converges.
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S0 Z converges by the Limit Comparison Test with the convergent p-series .
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28. Use the Limit Comparison Test with a,, = 371(#% and by, = 3%
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limis —==aimmesteslans 8 Sin 5 0, and since bn is a convergent geometric series (|r < 1)
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converges also by the Comparison Test.




